Run 4985 quartetwise, Asyms0 (Raw): All
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Run 4985 quartetwise, Asyms0 (Raw): Beam ON, Laser ON
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Run 4985 quartetwise, Asyms0 (Raw): Beam OFF
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Run 4885 quartetwise, Asyms0 (Raw): Beam ON, Laser OFF
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Run 4985 quartetwise, Diffs0: All Run 4985 quartetwise, Diffs0: Beam OFF
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Run 4985 quartetwise, NegHelAccO/NSamplesQ: All
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Run 4985 quartetwise, NegHselAccl/NSamplesl: Beam ON, Laser ON
guanctwisd baami las® nagHD
Entries 15562
Mean 18.48
Std Dev 0.8387

18

20

22

MNegHelAccl/NegHelNSamplesd

350

300

250

200

150

100

50

2500

2000

1500

1000

500

Run 4985 quartetwise, NegHelAcc0/NSamples(: Beam OFF
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Run 4985 quartetwise, NegHslAcclVNSamples0: Beam ON, Laser OFF
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Run 4985 quartetwise, PosHelAccO/NSamplesC: All
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Run 4985 quartetwise, PosHelAccO/NSamplesd: Beam ON, Laser ON
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Run 4985 quartetwise, PosHelAccO/NSamples0: Beam OFF
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Run 4985 quartetwise, PosHelAccO/NSamplest: Beam ON, Laser OFF

auamstwiza baami lasl posko

Entries 25403
Mean 3.384
Std Dew 0.4785

2

4

PosHelAccO/PosHelNSamplesD




9000

BO0OO

000

G000

5000

4000

3000

2000

1000

1400

1200

1000

BOO

600

400

200

Run 4985 quartetwise, Sums0: All
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Run 4985 quartetwise, Sums0: Beam ON, Laser ON
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Run 4985 quartetwise, Sums0: Beam OFF
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Run 4985 quartetwise, Sums(: Beam ON, Laser OFF
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